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OFIZ2ONMEHLAEH RAESHH|
270,000,000& = 14! 270,000
HSAE A29H A& 400,000 400,000 0]
307 2I2t0| & 400,000 400,000 0
05 QIZtREZ 400,000 400,000 0
OMESANLE (2HERSST AMZE2HE 22 . Hs24
1RIEEd 400,000,000& = 14l 400,000
H2HSAIE 22 605,759 0 605,759
101 21 214| 107,261 0 107,261
04 JIZtHIZ22XNSE S 107,261 0 107,261
OMESANE HA0H B4
45,2308 * 89 x 26Y » 108 94,079
OY&EF I 200,000& = 8™ * 23| 3,200
OASEE = 9,982
O=DUAZRE= 94,079,000 * 4.5% 4,234
OR0AYLHELSI
94,079,000 * 2.995% 2,818
OFIIQULHRLESI
2,770,627& * 6.55% 182
olnaggsgede=z 94,079,000& * 1.5% 1,412
ONMBTHHEAESE S 94,079,000 * 1.42% 1,336
201 et 350,780 0 350,780
01 AR 22l ] 11,780 0 11,780
OMSAYE AKX SAlH|
7,000 * 6YH ~ 90Y 3,780
OFXE K28 222 ME(3T)
4,000,000& 4,000




=

A S sMs2 WMIALL
=

M FD+F2 MSAE 22
29 S8X AL N (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=XE K= otLiE X
1,000,000& = 404 A 4,000
02 =224l 339,000 0 339,000
OMSAE 4==2= 10,000,000& *» 442 40,000
OMSAE HIRS 50,000,000& = 501 A& 250,000
OMSAIE SANLARS
40,000,000& * 1004 40,000
OHMSANE LSRLRES
3,000,000& = 30H A 9,000
202 O4dl 2,160 0 2,160
01 = LH o4 1l 2,160 0 2,160
OMSAE 22l 20
20,000& = 3H * 3 » 128 2,160
206 M= Hl 13,248 0 13,248
01 M= 4l 13,248 0 13,248
OMSANE EAES 13,248
Ot&Es FAEF 200,000& = 123 2,400
oXdgJl s S5 (100L)
1,611& = 1,50004 2,417
OMYI SHFHESE(50L) 810& + 1,2600H 1,021
OMgEs+HE SHSE 300& » 700& 210
OstaAZ &
40,0003 * 152 A « 12E 7,200
307 21201 A 123,810 0 123,810
01 222l 450 0 450
OMSAYE 22435 2&  150,000& * 3MHA 450
05 RIZt2IE = 123,360 0 123,360
OHFRCH D RUAHAILEY
180,000& * 128 2,160
OHAYZASE LOIHYAAH
100,000& * 128 1,200
OFSHS=AE F=A2ZHALE 29
10,000,000& * 128 120,000
405 RHoHE S HI 8,500 0 8,500
01 AL EZFH S 8,500 0 8,500
OMSAE H2aHAE E57L 8,500
Ogolal "Hols 250,000 = 204 5,000
OZolA oKt 35,000& = 1004 3,500
Hiszdl1es 249 9,980 0 9,980
201 LBt2H| 3,050 0 3,050
02 2324l 3,050 0 3,050
(OFSE=PNEEDNE:] 3,050
Oodsx 2H 2,000,000& = 124 2,000




A S sMs2 WMIALL
=

M FD+F2 MSAE 22
29 S8X AL N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdsSXt A 350,000& = 3K 1,050
206 = Hl 6,930 0 6,930
01 MHZ 4l 6,930 0 6,930
OMSAE BIES 6,930
O=7Z2UE 2 88 770,000 * 9& 6,930
Z2J1d gas A8 MSAE e 3,002,720 1,763,618 1,239,102
Xl 780,000
£ 800,000
< 910,000
Al 512,720
HAESEAZET ANEEFAY 2,749,720 1,193,000 1,556,720
Xl 780,000
£ 800,000
< 910,000
Al 259,720
401 AIEHI L 2 CHYI 2,749,720 1,193,000 1,556,720
Xl 780,000
£ 800,000
< 910,000
Al 259,720
01 A& HI 2,701,880 1,170,605 1,531,275
OFJASEAAE ZHIAY 2,600,000,000& 2,600,000
X 744,843
= 800,000
< 868,984
Al 186,173
OBABBAAT AALH
2,600,000,000& = 2.88% 74,880
Xl 21,452
< 25,027
Al 28,401
OBEZSARE WX E L]
27,000,000& 27,000
02 Zteltl 38,481 18,100 20,381
OFAZTEAZZE 2eldl  38,481,000& * 1Al 38,481
Xl 11,024
< 12,861
Al 14,596
03 Al S HHI 9,359 4,295 5,064
HASSAAT AL
9,359,000& * 14! 9,359
Xl 2,681
< 3,128
Al 3,550
ST ZTHT AXZEC DHSA 110,000 0 110,000
401 AIEHI L 2 CHYI 110,000 0 110,000
01 A& HI 110,000 0 110,000




=

A S sMs2 WMIALL
=

M FD+F2 MSAE 22
S 2" 42 RAS HMSAME Mo (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBF=EZE Z&4ZT AUXIC WHSA
110,000,000 * 14 110,000
e EH =33 143,000 0 143,000
401 A& HIZ 201 I 143,000 0 143,000
01 A& HI 143,000 0 143,000
ONHMBHSDY UMY AZ S
143,000, 000& 143,000
OHME 2RHCZ otz MSAE FA22 855,939 687,094 168,845
40,000
815,939
& % SFFH 126,781 82,499 44,282
201 Let249] 2,791 1,779 1,012
02 =24l 2,791 1,779 1,012
OM=Dl 2 58 &Hl ¢2=24l 441
Os&¥= 1,875& = 10L = 102/ 188
o0& % 1,685& = 10L » 153 253
O&CIZAI = 2,350
OXt= 4] 70,000& =« 53l 350
Os&4 2,000,000& * 13l 2,000
401 AIEHI L 2 CHYI 123,990 80,720 43,270
01 A& HI 123,000 80,000 43,000
OMSAE =2 & SIHH A
110,000, 000 110,000
O M=EAE &4 =4 13,000, 000& 13,000
03 Al 2 THHI 990 720 270
OMSAE =Z el & S3FUAY
110,000,000& * 0.9% 990
HMSAL 22 242,610 383,383 AN140,773
201 Let24dH] 2,250 4,000 A 1,750
02 =24l 2,250 1,600 650
OANEHHIRNH(SEEINE 2 14HA2)
150,000& * 1500 A& 2,250
401 AIEHIZL 20 240,360 154,400 85,960
01 A& Hl 239,460 154,400 85,060
OHSANE RNES(SEZINE 2 14H4)
,000,000& = 1500 £ 135,000
OFJA=ZTUNSHH 2= AtY 100,000, 000& 100,000
OFAZLUNSHE EBAt AAIEAHBI
100,000,000& * 4.46% 4,460
03 AlE SR THHI 900 0 900
OHARVHSHE SLAY ALY
100,000,000& * 0.9% 900




M 2SS 2 MSAELn
3 A= MSAE 2el
Chel: otME XHRMOZ ol MSAE A2 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
HMEAE £Hl2c 406,548 221,212 185,336
201 fEt2E | 39,168 31,777 7,391
01 At2 2t 2l bl 38,536 31,482 7,054
0sdI FAUE> & =R 8,796
ORXNE=+ 175,000 * 4CH » 128 8,400
O&FJIEMN =22 99,0008 = 400 = 13 396
odsol2d HIIZ A 360,0008 » 104 = 12 360
OZAIJtA EHIIZH AL 188,000& » 1CH * 13 188
O HIIZAM =2 110,000& = 4CH 440
OZ&EIIE HIIAH BIFEA 442
1,976,000& * 13 1,976
(OFSPIRIFSESR= R R R = 5,676
OFFRraa 275,000& * 12 3,300
OFx3d+1% 198,000& * 12& 2,376
OAYAHTACAR Y+ 13,800
OosgdIaE2 5 1,150,000& » 123 13,800
O33J& AL W=
130,0008 * 3% » 13| 390
OB, HA, YSAHDR
200,000& » 1& = 12 200
OsZJl&ellt Us 20,0008 * 1¥ = 13 20
odJIgtE Ze| it W=F 90,0002 » 1 90
OFE HA 13,200%  500& 6,600
02 524t 632 295 337
Oaxgotd e Xt &3l 165
Ogaldl 55,0008 = 3 = 13 165
odJ|etd2e| it g3l 100
Ogaldl 100,000& » 1H = 13 100
oHlagdI| A=l 1,685& » 200L 337
OJtAADB Y HUEH 30
Oodstti2l 1A 30,000& * 13l 30
206 =8l 27,030 27,935 2905
01 M= bl 27,030 27,935 A905
OdUME2 2 SRS 1,930
OF=FPN| 88,000& » 10 880
O stA 15,000& = 151 225
odg ~=q 55,000& * 15¢ 825
OM=AE 225 2,000
O=elA 2 95 200,000& * 105 2,000
OAN&E=E AU 6,700
OA4BME K 15,000& = 200K 3,000
OUEI NMEZER 105 50,0008 » 50 2,500




SN 2SAUEHSED MSALD
g 20+ HSAE 22l
O OHME FRMOZ2 Gl MSAE S22 (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Oget 12,000& * 1004 1,200
ogEsSHE KM 12,400
ogsdols 4,000& + 1,000m 4,000
Osd3A0I2 900& * 1,000m 900
odZEE IC 20,0002 = 10074 2,000
(OFSETSUS= N8 1,000,000& = 404 4,000
odzEs AR 500,000& * 3H 1,500
O&I| - 2EXM 2 4,000,000& * 14 4,000
401 AIEHI L 2CHEI 340,350 161,500 178,850
01 A& HI 340,350 161,500 178,850
OFFHSZ 2N & FESALEHHI
2,000,000& = 404 8,000
OFFHs2 HdSIIAM2 & H24E H|
10,000,000& = 10CH 10,000
OJIHEH ANE2 BEH(SEZINEA 1404
) 1,200,000& * 1500 A& 18,000
OMSALSHZET U2 (FF02EL 2L
) 6,000,000& 5013 30,000
OFFO7E HH MSCZE WHSA
40,000,000& = 14! 40,000
ORIMEH RAE=(MSALESEA)
1,500,000& = 1500 & 22,500
OLXBAHOQIHMINRNES(BHEAIHL 14
) 1,200,000& * 1500 A& 18,000
O&EIILHl B (SEZINEL 14HA)
3,000,000& = 150024 45,000
OgsEsSaLY 2=+ 36,000
OL&sSEEH E 800,000 * 1500 & 12,000
OCCTVH Hl 2= 800,000& = 1504 12,000
OZESHEH E= 800,000 * 1500 & 12,000
O30 xHE 2=
2,000,000& = 5044 10,000
OFE=LUMSUE EF3SA 102,850
O=Z&d= 0843 € 283 uUA
19,000,000& 19,000
O=Z& #IIEX B+ 18,850,000 18,850
OJIHZd & AUsHO 2+ 35,000,000& 35,000
O&EIIANEES 30,000,000 30,000
SEAMEE B &X 80,000 0 80,000
= 40,000
Al 40,000
401 A& HIZ 2018 80,000 0 80,000
= 40,000
Al 40,000
01 A& HI 79,340 0 79,340




SN 2SAUEHSED MSALD
M 2 D=FQ MSAE 22
O OIS HPHOZ ot HSAL ST (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OZE A2 & B2 AX 2,993,600& * 25kw 74,840
2 37,420
Al 37,420
O ZEAIAZE BN AX AAIEAb]
75,000,000& * 6% 4,500
= 2,250
Al 2,250
03 A& 20 b 660 0 660
O SEAIEZE B2 AX S0l 660,000 660
= 330
Al 330
HE=AALH (2= a 2 MSAED) 86,775 41,892 44 883
Jl=23tl 86,775 41,892 44,883
JlE23Hl 86,775 41,892 44,883
101 2124 d| 46,767 0 46,767
03 2IAHAZZXHE = 46,767 0 46,767
ORJIHE*2Z2X B 42,903
o=3 22,240
- 13& Xt 22,240,000& *~ 1 22,240
o< 11,954
-tESY 4,960
- Bl 2 X 40,0008 * 19 12& 4,480
- ZEHl S 20,000& = 29 x 128 480
a2
8,650 * 10AI2F » 1¥H * 128 1,038
-ggae4g
8,650& * 10AI2F = 5L * 18 * 128 5,190
R PNESE=y 69,560 * 112 = 1H 766
OY ZE I 2,224
-134 X} 1,112,000& * 23] 2,224
O =&l 120,000& = 19 x 12& 1,440
OuWEH| 120,000& = 1Y = 128 1,440
o=2s52Y 2,225
- 13¢ Xt 185,400& = 1Y x 12&€ 2,225
OJFA X &l 115,000& = 19 *» 12& 1,380
O4UAITIEEE D22 3,864
O=0UAZIEE S 37,000,000& * 4.5% 1,665
OnggEss 22 37,000,000& * 1.5% 555
OAUEEH=EL= 37,000,000& * 2.945% 1,090
O&IRYBEHEREH=
1,100,000 * 6.55% 73
OMNMESE = 37,000,000& * 1.3% 481
201 Bt 19,468 20,952 N 1,484




A S sMs2 WMIALL
HH: HH2ILH (2SI 2 MSALL)

29l 3= (B9 ®R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
01 AtR 2t 2l | 17,788 19,272 N1,484
oJlzge-desHl 7,112,000 7,112
OUEBERSZ (XY, 3Y) 984
OX & Xl 13,0003 = 400 Ab x 12 624
OosdX 15,0003 = 2JH AL = 128 360
ogezd FOAMAE 7Y 300
OS2HdEX 25,0008 » 123 300
OYRED & 24T A AM
100& » 50004 » 205 1,000
O=&Hl 6,552
OJl1=3dHl 6,552,000 6,552
OFHAZE 22= 120,000& » 6F = 23 1,440
ogad 7 ME 50,000& = 4x * 23] 400
02 s3=29Hl 1,680 1,680 0
OAMOIETV =0 &8 20,000& » 12& 240
OM=AE I MNEZ
40,000 * 3M 2 128 1,440
202 o4 4l 14,040 14,040 0
01 = LHO I 14,040 14,040 0
o123l 14,040,000 14,040
203 R =AY 3,000 3,000 0
04 FEN2EYRFAH| 3,000 3,000 0
OJIEH(1521015t) 250,000& * 12& 3,000
405 At&tF S HI 3,500 3,900 A 400
01 &AL ESFHSH 3,500 3,900 A 400
OZEHII(A3E S, 2Zet) 3,500,000& = 1CH 3,500




